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2N BLS
M SYS A3
Sl FOMXME HASY o BOAAL X (B9 ®R)
= — = s
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
EREsS 250,122 284,964 A 34,842
SYS S 3 164,740 198,020 233,280
FOUNXLE Had2d & HAANE X 100,350 133,630 A 33,280
FOXXHEH 29 64,050 92,500 A 28,450
201 fEt2E | 61,050 66,500 A5,450
01 AtR 2t 2l | 60,250 66,000 A5,750
OueH =g Let+=EHl 4,250,000& 4,250
OT A& 47,000,000& 47,000
Ofd+< 9,000,000& 9,000
02 s3=29Hl 800 500 300
OAl € ZHI R X H 800,000 800
301 LetEa= 3,000 3,000 0
09 BMNAEHIESS 3,000 3,000 0
OS=XXEH Hsty| 100,000 25 * 13| 2,500
Oz2gal agtl 500,000& 500
FQUEYAE K& 36,300 22,630 13,670
201 £et23E | 15,000 15,050 A50
02 s3=9Hl 15,000 15,050 A50
OFANSABHAIAHESA 200,000& »12& 2,400
Oxg2gasd =Xl 5,000,000& 5,000
O&F A= Xl HI 5,000,000& 5,000
OLEs+iAg 500,000& 500
OF=JIAER 1,000,000& 1,000
OANEES SIMNERES 500,000 500
OHltAIEZ 600,000& 600
203 YR & Y| 1,700 1,580 120
03 Al =T P =AY 1,700 1,580 120
OSZYERAHFA 1,700,000& 1,700
401 AIEHIZ S CHYI 16,000 6,000 10,000
01 AlZHI 16,000 6,000 10,000
Osxags cl2gd SAH(14])
16,000, 000& 16,000
405 At&tE = HI 3,600 0 3,600
01 ML ESFHSH 3,600 0 3,600
O=sAggd HE7Y 3,600
-agEMy 200,000& »2CH 400
=P 200,000 +6LH 1,200
- 350,000& =4CH 1,400
-4 I 300, 000& »2CH 600
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SA - BB B () - MM - BES Ol &t o San HmEET
sSclotEas=2y 64,390 64,390 0
SClgEasE4 N 64,390 64,390 0
301 LB A F 64,390 64,390 0
05 S& -0 -EtE2s2E 64,390 64,390 0
os&d=+¢ 200,000& 18K «x12& 43,200
Osddd=s 200,000& x18H #23| 7,200
O3 oas=g 20,0003 x18F #2353 x12& 8,640
Ot asl 50,000 107 13 5,350
HY2HAH(ELS) 85,382 86,944 A 1,562
ol 2YH(TYS) 30,002 29,448 554
NEAL(BLS) 30,002 29,448 554
101 @144 Hl 30,002 29,448 554
03 RIAHAZ 2B+ 30,002 29,448 554
O BAzelgge=2¢ 30,002
-JlE= 1,167,750 x1H x12& 14,013
403 1,167, 7502 1H x4 & 4,671
-Jtat3 1,167, 7503 x 128 »12%* 10% 169
-2 22 9,940 1 H *22 A 2t 123 2,625
—FY2RE 79,6003« 1H 2 128 1,911
-=FE 53,0703 x 1«52 2,760
-ARESFIIsE 53,0703 x 1 %10 531
- A G A 80,000& x1H 123 960
W S8 2H| 60,0003 x1&H 128 720
-2 F Ol 1,167, 750& 2 »60% 1,402
-t EE 20,000& x1H » 128 240
=2ZH(5¢s) 55,380 57,496 A2,116
ledul(5g¢s) 55,380 57,496 N2,116
201 LBt 26,700 26,616 84
01 At 22l 9,500 9,416 84
OFRAN2E AR 2] 9,500,000& 9,500
02 =24l 17,200 17,200 0
OHIIRS 12,000,000 12,000
OHdt==R3 1,200,000 1,200
ORERS 4,000,000& 4,000
202 O4dl 16,960 16,960 0
01 = LHO YI 16,960 16,960 0
O22A&=Z 0l 1,600,000& 1,600
oJlege+a8uul(8Y) 15,360, 000& 15,360
203 YR =&l 9,920 9,920 0
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